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Ritp:/ffarbe i u-berlin.de/ CEES/CEE3LONA. TXT 1.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu3 standard lightnessl*

Ya=Yw - nc=100,

"L agaNDu3=IN(A1n+AnY)(AgnAon)  (Ya/100<Y<=Y,o)
I* L agaNDu3 =IN(A 10+A2X)/ (A2iAon)  (X=YIYy)
1 (3,6)=218* ,(18)=496 [* y(90)=772

log[i*/I* ]=0, m;=0,33

L*,=49,1* =496

1% 9=771,96, Ay, f:AQ =0,0699, ;;_o 67
I* 15=495,86, A =0 M7, A,=0,0038
I*3,6=218,08)%,=4 ?86\(1 18 -
" |>h 1
an=0.2  xy=5

application
range

LABJINDu3

tristimulus value difference

Yo=Y - nc=100,
I* L ABINDU3 =IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
I* L ABINDUa=IN(A 10t A2) (A2 Aon) - (X=YTYy)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) X=YIYL|
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

'

I*,=496 dY,=0,13 dY,/Y,=0,0072 2 ¢ ~

lo dY 0,1
g( ): % &;6489% ¢=0,6%
leg—O 13. A,; 7 5,=0,0088 «;:\ppllcauon
dY3=0,04 Y,=18 dY=0,13

XN=0,2

log (AY/Y) LABJINDu3
_ tristimulus value sensitivity
S=@vr) YotV nc=100
I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)
I* L ABaNDu3=IN(A 10t A2) (A2 Aon) - (X=YTYy)
AYIY=Agn(A 1A Y)Y=Agr(A 1A XY
(dY/Y}=0,7061, Ay=1,5, Ap,=0,0699, ¢=0,67
(dY/Y)g=0,0072, A70,017, A,=0,0038
(dY/Y} 6=0,012y V. :1& dY=0,13
log(dY/Y)F-2,1 = O 1& e application
og(dY/Y)-2,13 m= N j_\llgf’ge
I* (=496, dY,=0,13 dY,/Y,=0,00721
1
1
=l
xN=0,2 Xw=5

LABJINDu3

tristimulus value contrast

Yoc=Yw nc=100

I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)

L aganDus=IN(A 10+ A2X)/(AgAon) - (X=Y1Yy)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY)=163,60, Ay=15, Ay=0,0699, G=0,67
(Y/dY)g=138,01, A=0,017, A4,~0,0038

_ (Y/dY) =774 ¥,=18, dY=0,13
=496 dY,=0,13 Y, /dY =138

C,=(Y/AY)

TUB-test chart CEE3; LABINDY3*(Y) & L*(Y

LABJNDuS3 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

1 LagaNDuz =IN(A1ntA2nY)(AgnAon)  (Ynd/100<Y<=Y,o)
1* | ABaNDU3 =IN(A 10 +A2X)/(A2pA0n)  (X=Y1Yy)
1 (3,6)=218 * ,(18)=496 1* y(90)=772

I* gofl* (1,55, Ayy=1,5, Ay, =0,0699, ¢=0,67
I* 1g/1* =1,00, A,=0,017, A4,=0,0038
I3 ol*=0,43,1¥,=495,86 Y=18

log[I*/I* ;]=0, m,=0,33
L* =49, I¥ =496

log(AY/AY,) LABJNDu3 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,

11 ABINDUB =IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU3 =IN(A 10 +A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,21, Ay=1,5, Ap=0,0699, ¢=0,67
dY,g/dY,=1,00, A=0,017, A,=0,0038
s V035 YA18 dYE0Ls

13 dY,/Y,=0,0072 .

log [(AY/Y) 1 AYIY),] LABJINDuS relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
11 ABINDU =IN(A 17 +A2RY)/(A2rAon) - (Ynd/100<Y<=Yoo)
11 ABINDU3 =IN(A 10 tA2)(A2uAon)  (X=YIYL)
(dY/YY(AYIY),=[(A 17+ A ) XJI(A 17+A20)
(@Y/Y)o(dY/Y;=0,84, Ay=1,5, Ay=0,0699, G=0,67
(dY/Y)g/(dY/Y)=1.70, A=0.017, £5,=0,0038
(@YY} g(AYIY)=1,7 X, 18, dY0,13

10g[(dY/YY(dY/Y),]=0, m,= .
I*,=496 dY,=0,13 d¥/Y,=0,0072} Zppication
Ix,=1
Xn=0,2 Xw=5

log [(Y/AY) 1 (YIAY),] LABJINDu3 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

1L ABINDU =IN(A 17 A2 Y)/(A2rAon)  (Ynd/100<Y<=Yoo)

11 ABINDUS =IN(A 1n+A2)(A2uAon)  (X=YTYL)

(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIAY}o(Y/dY)=1,18, Ay=1,5, Ay, =0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A=0,017, /5,=0,0038
(Y/dY} ¢(Y/dY)=0,56 Y,=18, dY=0,13

log[(Y/dY)( YldYL]:O mu—O 18

» Ync=(Y&L®)

LABJNDu3 standard lightnessL*

YoeL*w -~ nc=100

L* | ABINDU3=IN(A 15+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,0)
L* 1 ABaNDus=IN(A 10+ A2 X) (Ao Aon) - (X=YTY)
L* (3,6)=218L* ,(18)=496 L*  (90)=772

log[L*/L* J=0, m,=0,33

L* =49, L* ,=496

/ .
L*90=771,96, Ay=1 4, Ay =0,0699, ¢=0,67
L*15=495,86, A= 917, A,=0,q038
L*36=218,08L%= %,86 ;= 18|
| ' |>h 1
n=0.2  "xy=5

application
range

CEE31-1A

logAY) LABJINDu3
AY tristimulus value difference

YomL*yy - =100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1ntA2X)/(A2Aon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aonpes=1,5, Aon a=1,0, see CIE 230:2019

ve

L* =496 dY,=0,13 dY,/Y,=0 0072,

IOg(dY):O 1% =0 -i 5 A= JBQQ. ¢=0,6%

leg—O 13, A A >~ 7 %,=0,0088 «;:\ppllcauon
dY;6=0,04 Y,=18, dY=0,13

XN=0,2
CEE31-3A
log AY/Y) LABJINDU3
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100
L*Laganpua=IN(A1ntA2nY)/(A2nA0n)  (Yac/100<Y<=Yqo)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (x=YTYy)
AYY=Agr(Arr+AgnY)Y=Agn (A1 A )Y
(dY/Y)=0,0061, A=1,5, Ay=0,0699, G=0,67
(dY/Y)§=0,0072, A,=0,017, A4,=0,0038
(dY/Y) ¢=0,0124 V. 18 dY=0,13

I Y/Y)F-2,1 =-0,1 . application
og(dY/YF-2,13 m,= o&\ \‘;55?99
L* ;=496 dY,=0,13 dY,/Y,=0, 0072"

|>&F1
XN=0,2 Xw=5

CEE31-5A

log (Y/AY) LABJINDu3
- tristimulus value contrast
C=(YIAY) M s
L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY)=163,60, Ay=1,5, Ay=0,0699, G=0,67
(Y/dY)g=138,01, A=0,017, A4,~0,0038
(Yidvh =744 ¥,=18 dY=013
L* =496 dY,=0,13 Y,/dY,=13

CEE31-7A
CEE31-7N

LABJNDuS3 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* LaBINDu3=IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
L* aaNDuz=IN(A 1t A2 X)/(AoAgn)  (X=Y/Yy)
L*\(3,6)=218 L* ,(18)=496,L* ,(90)=772

L*gy/L* =1,55, Ay=L,5, Ay =0,0699, ¢=0,67

L*1g/L* 1,00, A,=0,017, A4,~0,0038

L*3dL*,=0,43,L*=495,86 Y=18

log[L*/L* =0, m,=0,33

L* =49, L* =496

CEE31-2A

log(AY/AY,) LABJNDu3 relative

tristimulus value difference
NN YomL*yy - =100,

L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 1ntA20X)/(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,21, Ay=1,5, Ap=0,0699, ¢=0,67
dY,g/dY,=1,00, A=0,017, A,=0,0038
0¥, JaY,=0.35 Y718 AY=013

13 dY,/Y,=0, 0072/
i

CEE31-4A
log [(AY/Y) | (AYIY),] LABJNDuS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* L aganDua=IN(A1ntA2Y)(A2rAon) - (Yad/100<Y<=Yyo)
L1 aganpua=IN(A 1ntA2X)(A2uAon) - (X=YTYy)
(dY/YY(AYIY)=[(A 1+ A )X (A 17+A20)
(@Y/Y}o/(dY/Y)=0,84, Ay=1,5, Ay =0,0699, G=0,67
(dY/Y)g/(dY/Y)=1.70, A=0,017, £5,=0,0038
(@YY} g(AYIY)=1,78 X, 18 dY0,13

10g[(dY/YY(dY/Y),]=0, m,= .
L*,=496 dY,=0,13 dY,/Y,=0,0073 ~Zppication
Ix,=1
Xn=0,2 Xw=5

CEE31-6A
log [(Y/AY) I (YIAY),] LABJINDu3 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

L*LaganDua=IN(A1ntA2Y)(A2rAon) - (Yad 100<Y<=Yyo)

L1 aganpuz=IN(A1ntA2X) (A2yAon) - (X=YTYy)

(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAY}o(Y/dY)=1,18, Ay=1,5, Ay, =0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A=0,017, /5,=0,0038
(Y/dY} (Y/dY)=0,56 Y,=18, dY0,13

log[(Y/dY)( YldYL] =0, ;=018 _

application
range

w=5
CEE31-8A

o x=0,66, with more data

Absolute and relative lightness, sensitivity and contragt=A5, A1n=0,017, A,=0,0038, A,=0,06
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